-
7 o ngr;m
(/’ (s Ooquﬁ?_ 1

)‘

7f sox—+ 9‘00 = Go0 )(—1‘7)(3)(—?‘7)
@ 2000 X—+ §000 ~25¢09 )(’('2’7)!5)(”07)

T@-21_1-1
@ -4 8 o~ |
"'(JO

(3) 32478 * /60
@ 2, Lc,t?g——'/aoci

9 2) (zp) I [3 X2 ] g
O (-'5) 29, X/ = 3)(,._
@ -s"° —qXK— 4T~ — (KX @ y((ﬂ)
i@ ,ZO""Z + /0K —3 @ ZXA] = (;EG{/ )(-‘5’)6/—(’&)
® 2+ 2 %3 é) ;’(;{_ X 1@6/3)(/ 74—
/ /0t 27 ap;i)_ B a 2()(1‘3)6\/7)
[2;2 (;L cp)]-rv dsbec z ZE{)((»Z/)?%/A(-;)
= TG "t 5/6/4../9& - <
! .71_ ; 1) ed 779 | 1) ¢ Sroxed ek,
i it (&) rexrmo S
» < 7 . (z)(,—()(i)(ﬂ)’o
.l
B ~1(5) @D -2x (195
@ z4 1 mplS G2~/ (-3)
@ %w& ws G mixed _1)(_;15704/50
® -4
") £- !

@ /-Z 7;—02) wﬂie [/ C—V/f(,l—\.‘, :

wrb A8 A A‘C#t&n 5/»-7/‘:'

b
%

22 -
2 Z - Z

F? 25 X 1 y.
\22 yp— s, PTI20% U 2500




("’5)("5) (”S):
C’"U (-3) -

Blatt 057> 65 Aok 5@

OY—3o°/8




- (25 )=

@) 20 =21 /0¥T =3
[0 F/ofs =3z
/O §0 -3 <

6o —3 -

@ .

2+ 2 ¥3 =

2 - (Z)(’L) 3
2 ()3
2 +(2 <

/9= )

/0‘—,czc—5g 3
/0 + () () ()1 =7 =
[0+ (CH=¢ =
[0+ ¥ =
/7=

i




@ C[Z’(' &(/Z—FS‘)Y“}V:
[t ~+2(® (¢ =
L

%_% z frimes 2,3 PVE
2 c/’ -3-_ ~ _ ‘717/
7 ’s'f)’“‘qp 7) G- 2:1 ¥
y 2] Lcp- Rz 77 3
27 T T T =27
3|

B 7 2 _ Ve 5h57
8 /o ZLZJ 22
7 _f),_,.}- 59: Y Ly
Bl &
L
};_/_g__,_ 70 ~ y<lZ v
25— /L - /0123 e
_,__'?d = (_epeTli:s
":(710






2¢($)= /) Cwss medh— T
[ 20 © /O e

,
Xl

@ ¢ - AL 7—5
N

)

/e X
6(x) = (2(1)) Cross Mart=
7T
by~ (3¢ 613 ¢
% - _(.é—é ""(,[’LD
& — 7

Cas



S
@ [2.75 % woile as « -
€C (e

(C11m=D o
di~_ CC‘(n-\;/ /c”,/fﬁ e o /écﬂL

@ 24 %, wribk &S “/ftc—ﬁ'
2 Drro L
_ VR e iass' 2/3 (/
, ).




£ o
@ Llﬁ/y“‘ S A= / /—/ZOO/ (A':ZS;OO‘.)
(f(/Zuo)-——S-(QS’Ooo)_ /chi/dou
e (ot —--/25000: __TFoe

2 O
> 5

@C/ﬂ—ev\: , P(200 U= 25000
7
C(1205) — 6 (2560) = /50000

Y900 -—-5/5”0 JoJd - B A
/5/(2/00

@lm—{— 3¢z, W=/002) <7
2(jove) +3( sou) -~
Zjooo —t //TOO':




4 Fo4
@ S/O)(’f'S/OO"C/“oo P

#5/\) X 9’9/"/9/00 = 90()'—}400

- ""GO

—-—

/b/&
7

4
2000X + §000= 25,000

DUV X ¢ /000 —S;/v{‘i 2,000 —S500u
'Z Ous X = 20,000

ZO/Q/X__ 2.0




@ ML+(= [3x—~¢2/
/(x—f(//(. = (SK+2(—/

([ X = (3Xx— 20
(X —13x = (3420 —15X
— 22Xz 2o
—2X _ o
—7 ~7

&SI
~G X —¢2 = ()
—9IN—%¥2 = ~6X — 1y
-ﬁ%~3%%y€:~%x>zw+yL
—UX = 6X—+1¥
— G y+6x = TeX ~+[ 7 +Ex
=3¢ =Y
—7x _ Jes

pr --—3



@ ! X2 = Z@U
K2 = W ~FL
22 A= R
I T K
W—LX T KX

D=0

oL (el >










BY y=-txey 5

ol
[ 12—
y*:'"l@)’fﬁ/ T
. _:Fz(’{)—(’L/
j':
7t-2(|)—+g/

j T LAY
JEA

@ /\/XZ /2

)( ){Ly/i

(2777







@D ()
(292 )(2x) =

(1 (




(€' 7)) =

[(3)  1(3) 3(3)




~¢
(x
9 : Cf *
, (:ébyx
3y—2 : |
9)(3x—
9) <

49
b
-—*6)(7
—-Gx
7—r‘f7

C_’j(l_}\

X

(s‘ﬁ—ﬁz/zx

7 S,)(‘?’f /)

/0
: Z;




@ (3x— 77}
(3)(—‘-77)73/(’77)

?Xz”l( X7 -—Zl)(7 -—/—9’?7

()(T?Z)@ —ﬁ‘f‘/’z/)
& i)

X —(~7)< —3x —2 | =

ED (Fu) ~




@ zu@v -

Zféé_t%?;(—rBX ~21) =
2( )(L—__q)('—'Q( -

22X — fxD
@ 3 (1@7):
~2(X =7k 7% ) =
”ZC Xl —% 9 o

CD -4 ¢%x)(—) —

——

~Y(/6—x*) =
— G4+ D

(%7, /"Cicib/ 5} -
(oiiers YAsshs,

@@@M ck (lealley) ~

[17‘ Y x—¢ 2.)(—#57—; o/




@ /'2?‘6)(+5:c) g)("‘fl
o (TP

LA Xtz O x¥¢—o
)(—FZ/—{?O"L OK Xty =04

I
@ (21X =) (3x=7)= O Sole

ik Af—(= 0O o SX¥-1=o

UX—4p = 0t IR IN-UEF0T)




(6 —2x—+250¢ (7

T #2440 —FFo L [Jo—270
— X < —/00 ——%@———
”}5 sl o *
CKero (VT




